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* Example 1

Q 1. OJAL7} 8tHOl BH2lof| nZHo| AlZtE WHEXo 2 550| HESHCE o] o= X7t
B2lol =350 TIRE W HAS LIM7|HX| HEXMoZ 3082 AL ECt &t O%
CiH IR & 47| 9510 Hao 2 1240| 7|Cl2le St 25 gtof g = UA ste{H Z
28 H JHo| o|XI7t EREHI}?

Answer:

Dol WATAE \7| 50|11, 10| BZ HHMMH HEE= B MAHAIZE E[w] O] 0.5
(Etel: AlZho|2 2, ol HHo| U= B2 DM == L =AE[W] =5 x 0.5 =25 O|C}.

TZHO| = xjods 2 LrErLHOF o|":'§ 12.5] = 3 Ho|C}. metM, Heolls 4 271 o|4 9]
O|X}I7} #£H]| EI010I= st (H A A EfoA EHe otol W7 3HO| oo = & H2 oAl ol &t
of TIEE & ol LIHX| & B2 cli7|&loll Rlo{ok 57| I E0lCt.) .
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= T
 Example 3
Q 3. AZHE 1,000,000712] 7= £QI2 ®Elste AlAEHIO| /S W, =F x{2IZFol CHal| =
StA|2.
Answer:

SHE -E—XHOI B, AMZHE 1,000,000742] 7tE &QI2 XMElste= AlAEIM| CHal =Y X 2|ZFo]
CHal £ 5t= EAXIO|Ct O|l= 2l&2l B=lZ 0|&35t04 0|7t 7tS35tH, MEIZHo EH?_ S
CtSt Z0| LIEFE = QUCt. KiEIE':(TPS) = MH|A ME| A/ Y AZH(E) . &, Y T4
off 9lo| 2ol Lttle =742 CHestH *{2IZH(TPS) = 1,000,000 / 3,600 22 *2F

278 TPS O|Ct.
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